1 d) [0 ke

s 280 Size

HYPERION _ FPV Racer

~ ,;".Z\‘
o s (( LN o\

@Fully Assembled: No building or firmware loading
necessary!

@ On-Screen Display (OSD): Program or set up your
Vengeance on-the-fly, no computer needed.

@In-Flight-Adjustable Single-Axis Camera Gimbal, Self-
leveling during flight.

@ Vibration Dampened Second-Camera Mount.

@®Robust, Pure Carbon-Fiber Frame with Carbon
Exoskeleton Reinforcements.

@Stress-Flex Designed to Withstand Impacts, Mass
centralized for high-rate turning.

@Black-Anodized, High-Strength CNC Aluminum Boom
Mounts.

@Tough, Translucent Polymer Landing Legs with Built-in
Directional Red-Green LED.

@38° Forward-Tilt Motor Mounts for Aerodynamic
Efficiency and Top Speed Performance.

@Four 2204, 2300Kv High-Output Brushless Motors.

@ Custom Compact BL-Heli 20A Motor Controllers (ESC).

@ Visual LED Flight Mode Indicator. Easy to confirm your
flight mode.

@Pre-loaded with Three Flight Modes: Normal, Altitude
Hold, or Acro Mode.

@NAZE Spec 32 Bit Flight Controller 7DOF (with
BMP sensor).

@ Altitude Hold via Integrated Barometric Pressure
Sensor (BMP).

@3S and 4S Battery Compatible. Hyperion Gé HV
LiPo Suggested.

@5.8GHz Auto-Scan 40CH Video Transmitter
(VIX) w/ Race Band VTX selectable for either
25mw/200mw output.

@Tuned 5.8GHz CloverLeaf Skew-Planar Antenna.

@Plug-n-Play Ready for Optional GPS modules.

@Built-in Low-voltage Audible Alarm.

@ Compatible with Single Wire* or Traditional
Receivers (*S-Bus, Horizon Spektrum™ Satellite, or
Hyperion Compatible receivers).

@Box includes Carry Handle and Foam Racer
Cradle + Parts Holder, for service as field case.

@One Set 6x4 CC/CCW Propellers Included.






wwogl

\ 33.2mm 216mm \/E\‘y ......

QO Specifications

O Length : 216mm

Channels : 6~8ch

Motors : Hyperion 2204-2300kV T

O Width : 255mm

Camera : 600tvl 1/3" CMOS Camera

ESC : BL Heli 20A

O Diagonal Base : 280mm

VIX : 5.8Ghz 25-200 OmW selectable w/ 40Ch's

Propellers : 6040 CW & CCW

O Weight : 435g (w/o battery)

Battery : 3~4S Compatible

Controller : Naze32 w/ OSD & Altitude Sensor

b
HYPERION
rl«< N

VEMGERICE



Left / Right Reinforcement Plate Lower Front Reinforcement Plates

y P

Main Carbon Fibre Frame

Lower Main Carbon Fibre Frame

<4Main Frame Mounting
Clamps x4

<4 Motor Mounting
Clamps X4

<« Front Arm Reinforcement
Clamps X2

Camera Mounting Plate Lower Rear Reinforcement Plates
u VTX Mounting Plate
A Vengeance Carbon Fiber Frame Kit ARear Frame Standoff ARear Frame Standoff
9mm X2 10mm X2

. ‘ . Abx4 CW + CCW Prop Set (Black) // //

AHyperion Silicon \
Dampeners Soft X5 AFront Arm Tubes 15X73mm X2 ARear Arms Tubes 15X83mm X2

A 6x4 CW + CCW Prop Set (Oronge)

AHyperion 2204-2300kv Brushless Motor CW X2 AFight Degree Forward Tilt A Vengeance Translucent Landing Gearx4
Hyperion 2204-2300kv Brushless Motor CCW X2 Motor Mounts X4

K

ABL Heli 20A 25~4S ESC x4 A5.8GHz Cloverleaf RHCP A5.8GHz Selectabl 4pight Controller with OSD, and Altitude
Antenna (RP-SMA) € 25mW / 200mW Video  ggnsor

Transmitter

BrLPdo s

A1/3" 600tvl CMOS ACamera MountAVengeance AGimbal Mount  ALED Landing Gear ALED Landing Gear
Camera Bracket Gimbal Motor  Bracket PCB (Red) PCB (Green)
with Sensor (1-
axis Pitch)

Subos
2 iienon \ENEEDMEE
L rglk



1.Motor & Arm

The Vengeance's unique motor mount design allows for superb
forward flight and cornering performance. Please note that during
installation that you install each arm in the proper location and the angle

of motors and motor rotation corresponds to the picture enclosed.

Motor mount arrows A Clockwise Rotation
<<<< Motor Rotation

Indicators.

indicated forward position

of the motor. —

Hyperion 2204-2300kv
A Counterclockwise
Rotation >>>> Motor

Rotation Indicators.

Eight Degree Forward
Tilt Motor Mounts

+ 1-4 Motor Rotation Chart.

Motor Mount Assembly ,*

Direction Chart.

LED Landing Gear Assembly Chart—

2R

b
fitoron VENGEDME.
rla< N



BL Heli 20Amp ESC 2~4S

LED Landing Gear PCB

Translucent Landing Gear

Motor Mount Arm Clamps

M3 x 10mm Self-tapping Screw

15mm Arm Tubes
Arm 1 & 3 use 15X73mm
Arm 2 & 4 use 15X83mm

M2.5X 10mm Hex Screw\ﬂ
-
-

T—~M2.5 X 16mm Hex Screw

2.VTX Assembly

5.8GHz Selectable 25mW / 200mW

Double Side Adhesive Tape. Video Transmitter

Heat shrink tube

VTX Mounting Plate



3.Main Frame Assembly

Frame Mount
Clamps

M2.5 Self Locking Nut

Frame Mount
Clamps

Flight Controller

Front Arm Reinforcement Clamps

Reinforcement
Lower Front Reinforcement Plates Plates
} Lower Main
e 2 N Carbon Fibre
Mem— ;%Frome
-~
/
/- Q
= == =
M2.5X8mm
M2.5x4mm _— HexScrews
Hex Screws M2.5%8mm i
Hex Screws
M2.5X14mm
MD._5x8mm Hex Screws
Hex Screws
M2.5X8mm;
HexScrews M2.5X10mm
M2.5XT14mm  M2.5X10mm Hex Screws
Hex Screws Hex Screws
M2.5X4mm 1 M2.5X14mm
Hex Screws M2.5X10mm Hex Screws
M2.5X10mm  M2.5X14mm Hex Screws
Hex Screws Hex Screws

Rear Frame Standoff 10mm

Rear Frame Standoff 9mm

NOTE: use the "Video Out" plug
to connect to your VTX."Video
IN" plugis used to connect to
the Camera.

: “ma &N
w o0
o111
©suie)

M2.5X16mm Hex Screws

b
fiteron VEPREPMEE.
J«( N



4. Main Arm Assembly

+—Make sure that the landing gear plate is 90° to the main
frame plate.

1 Once you have confirmed the landing gear plate is 920°
to the main frame plate you can then fasten the clamp
screw.

Positive ESC Power Supply

=

PWM Throttle Signal Wire

—Before Flying make sure your wires are
correctly plugged into the proper color
receptacle. Insert the LED Landing Gear
Light Indicator in the plug.



5. Camera Mounting Assembly

M2.5X4mm
Hex Screws

Camera Mounting Plate

Gimbal Mount Bracket

Vengeance Silicone
Dampeners (Soft) X5

M2.5X4mm
M2.5><6mm/'
Hex Screws ’

Hex Screws
Left Reinforcement Plat

Vengeance Gimbal Motor
with Sensor (1-axis Pitch)

1/3"600tvI CMOS Camera

M2.5 Self Locking Nut

M2.5X6mm
M2.5X6mm Hex Screws
Hex Screws ﬂ M2.5X6mm
M2.5%4mm ’ . M2.5X6mm :

Hex Screws
Hex Screws

b
firon VEPGEIMEE. 7
J«( N



6. Frame Final Assembly

#2 Nut rotation

5

#2 Propeller ret@tion

&

#1 Nut rotation

5.8GHz Cloverleaf RHCP m
Antenna (RP-SMA) #1 Propeller rotation

#4 Nut rotation

NOTE: Do not power on the
the VTX without installing
the antenna first. Failure to
do so may harm the VTX
and cause it to fail.

M2.5X8mm
Hex Screws

t+ M1-M4Motor Rotation and Arm
Placement Chart.

Complete!!



7. Vengeance Flight Controller Details

Video IN and Gimbal

Control Plug

Auxiliary Video IN Solder Points
12V LED

#4 Arm ESC Bullet Connectors

LED Landing Gear Light Plug

Spektrum Compatible
Satellite Receiver Input

Futaba S.BUS Compatible
Satellite Receiver Input

OSD (On-Screen-
Display Module)

S.BUS ON/OFF Switch

LED Landing Gear Light Plug

#3 Arm ESC Bullet Connectors

LED Rear Lights
SCL | SDA

3.3V |GND

| %

Video OUT Plug

Auxiliary Video OUT Solder Points
5V LED

LED Landing Gear Light Plug
#2 Arm ESC Bullet Connectors

8MB Flash Memory
Flight Mode Status Indicator

Micro USB Plug

USB Flight Controller
Function Switch

BMP Sensor

Buzzer
LED Landing Gear Light Plug

Ea

[a) [==)] €0 #1 Arm ESC Bullet Connectors

LED Rear Lights Frsky S
RxD

Receiver Imput GND AlDNC

GFIO

GPIO JFT

XT-60 Power Connector.
3~4S Compatible HvLi/LiPo

This is the PWM Input

GNOSV- 3 2 3 ,
5 g I B Receiver Channel Chart. Plug

) gl gl B Bl
| N

each corresponding servo
lead into the correct channel

BB . .2 .0 with the correct polarity. After

RECEIVER INPUT wire installation has been
made please make sure to check in CleanFlight Software
that your "Channel Map" is consistent with your brand of
Transmitter. DO NOT ARM Vengeance with propellers on
for the first time without checking!

Receiver Connection

GND GND -
5V DC5V + (to Reciver)
1 Roll (AIL)

: % Pitch (ELE)
4 i N Throttle(THR)
e \— Yaw (RUD)
6 AUX1(Fly mode)
7 N AUX2(Camera Gimbal)
8 =\ N AUX3
AUX4

Flight Controller Function Switch

ON
Flight Controller
HHHHHH Programming &

12345¢@| Uporade

ON
OSD Programming &
Upgrade

123456

ON
Flight Mode
EEEEHH (must be selected for

123456]| Mo

g
fsnon VENGEREE. *
EoT



8.SetUp CleanFlight.

5.0.2454.101, Co

& Welcome

Hardware

The application supports all hardware that €an run

cleanfiight (SPRacingF3, Vortex, Sparky, DoDo, CC3D/EVO,

AIr Hero 32, Flip32/+/Deluxe, DragonFly32, (JMCU
Microquad, Chebuzz F3, STM32F3Discovery, Hermit,
Naze32 Tricopter Frame, Skyline32,
Naze/32/MinifPro/Blackbox etc)

The firmware source code can be downloaded from here
The neviest binary firmware image is available here,
development builds available here

Latest CP210x Drivers can be downloaded from here

Port utilization: D: 0% U:0% | Packeterror: 0 | I2Ceror: 0. | Cycle Time:0

® Auto-Connect

Welcome to

CLERNIFLIGHT

Welcome to Cleanflight - Configurator, a utility designed to simplify
updating configuring and tuning of your flight controller.

Contributing

If you would like to hefp make Cleanflight even better
you can help in many ways, including:
Answering other users questions on the forums and IRC

Contributing code to the firmware and configurator -
new features, fixes, improvements

Testing new features/fixes and providing feedback.

Helping out with Issues and commenting on feature
requests.

Donating, buying a T-Shirt or buying an SPRacingF3
board

:

Connect

| Changelog

Open Source /
Donation Notice

This utility is fully open
source and is available
free of charge 1o all
cleanflight users.

If you found the
cleanfiight er cizanflight
configurator useful,
please consider
supportingits
development by
donating

\bonate...

0x671ff535256867067253556

Setup

DOCUMENTATION FOR 1.8.1

Disconnect

pariod
(Cattrace

J [ Restore |

Heading: 332 deg
Pitch:  -223deg
Roll 8.2 deg

Move multirotor at least 360 degrees on all axis of rotation, you have 3

Restore settings (o default

Reset Z axis, offset: 0 deg

[ calibrate Accelerometer | - piace board or frame on leveled surface, proceed with calibration, ensure platform is not moving during calibration

0 seconds to perform this task

Backup your configuration in case of an accident, CLI settings are notincluded - See ‘dump' cli command

Info

Battery voltage: ov
Capacity drawin: 0mah
Current draw: 0004

RSS! 0%

GPS

3D Fix
Sats:
Latitude:

Longitude:

Instruments

Port utiization: D: 4% U: 1% | Packeterror-0 | 12Cerror:0 | Cycle Time: 3493 |

1.0.0

Ports

9

Disconnect

DOCUMENTATION FOR 1.8.1

UART1 @D Msp [ 115200 v Blackbox | 115200 v Disabled v |AUTO v B
UART2 ) MsP | 115200 v Blackbox | 115200 ¥ Disabled ¥ |AUTO ¥ J
SOFTSERIALT () MSP | 115200 v Blackbox | 115200 ¥ Disabled ¥ |AUTO ¥ &
SOFTSERIAL2 (] MSP | 115200 v Blackbox | 115200 ¥ Disabled ¥ |AUTO ¥

Note: not all combinations are valid. When the flight controller firmware detects this the serial port configuration will be reset
Note: Do NOT disable MSP on the first serial port unless you know what you are doing. You may have to reflash and erase your configuration if you do.

[iomterJoma oo |

Seral RX () 57600 v
Serial RX |7 57600 v
Serial RX () 57600 v
Serial RX 57600 v

Port utilization: D: 0% U: 0%

Packet error-0 | 12Cerror:0 | Cycle Time: 3449 |

Subos
J/(l‘-.

Download Google Chrome Browser,
go to Chrome Application Webstore
and download "CleanFlight" and
install it.

If it is your first-time installation of
Cleanflight you must click "Here"
to download and install "CP210X

Drivers"

After properly connecting the
Vengeance via the Micro USB plug
to CleanFlight Software the program
should resemble your quadcopters
position.

Here is the Main Menu options
page. You may Calibrate and
update your flight parameters and
other settings. You can also update
and backup your flight controller

settings.

By default select UART1 for standard
PWM input Receivers.

When using Spektrum or other PPM
input receivers you must select
UART2 Serial RX and turn ON

DO NOTE! You must "Save and
Reboot" to save changes onto your

flight controller.



Configuration

Disconnect

DOCUMENTATION FOR 1.8.1

£ Configuration

disabled.

Mixer

Quad X

Board Alignment

Port utization: D:0% U:0% | Pad (o

oo o

Receiver Mode

RX_PPM

RX_SERIAL

®

RX_PARALLEL_PWM

RX_MSP

Serial Receiver Provider

Note: Rememer to configure a Serial Port (via Ports tab) and
choose a Serial Receiver Provider when sing RX_SERIAL feature

SPEKTRUM1024
SPEKTRUM2048

SUMD

Receiver failsafe

@D FAILSAFE

RSS! (Signal Strength)

RSSI_ADC Analog RSS! input

GPS

Note: Remember to configure a Serial Port (via Ports tab) when
using GPS feature.

GPS

NMEA
Auto-detect v
0 2| mag

Note: Not all combinations of features are valid. When the flight controller firmware detects invalid feature combinations conflicting features will be

Note: Configure serial ports before enabling the features that will use the ports

ESC/Motor Features

@ MOTORSTOP D

ONESHOT125

Battery Voltage

@D VBAT Batter

o || [r)  {er

Current Sensor

CURRENT_METER B3

o o

System configuration

Note: Changing this may require PID re-tuning

3500 3| Fiig

286 Cycles/Sec (Hz

Other Features

INFLIGHT_ACC_CAL In-flight

SERVO_TILT

SOFTSERIAL

SONAR
TELEMETRY
30
LED_STRIP

DISPLAY

BLACKBOX

Port utilization: D: 0% U: 0% | Packeterror:0 | I2Cerror:0 | Cycle Time: 3410

By default the Vengeance comes
loaded with all preset options. The
Default parameters are to be used
with standard PWM input receivers.
If you would like to use a PWM
or S.BUS style receiver you must

configure these settings yourself.

Receiver Mode: If you are using a
Satellite Receiver or PPM input you
may select the type of Receiver
here. For example: Spektrum PPM or
Futaba S.BUS.

By default the Vengeance is setup
to use standard PWM signal. The
user must use a 6Ch Transmitter to
utilize the Vengeances standard
functions ( 5Ch. Flight Mode
Selection, 6Ch. Gimbal Control)

"Serial Receiver Provider" option
allows you to select the type of PPM
(single-line) input Receiver you are

using.

If you edit the Receiver Input type
please make sure DO NOT ARM
motors until you have verified that
your "Channel MAP" corresponds to
your Transmitter. Failure to do so can

lead to possible bodily damage.

DO NOTE! You must "Save and
Reboot" to save changes onto your

flight controller.

fitoson VENGEREE 1



i The "Receiver" directory of
CleanFlight helps to show you your

Disconnect

Channel Map and the position

Receiver il of your Transmitters controls with

S e o T e e T e T S U e i respect to the Flight Controller.

bind receiver, set channel map, configure channel endpoints/range on TX 5o that all channels go from ~1000 to ~2000. Set midpoint (defauit 1500), _J
trim channels to 1500, configure stick deadband, verify behaviour when TX is off or out of range. =
IMPORTANT: Before flying read failsafe chapter of documentation and configure failsafe. U n d e r t h e n C h O n n e I M O p n
. .
AETRI23 v Disstled v ol option please choose if you
Roll - [T o . .
pich T are using Futaba / Hitec or JR /
vaw (T 00
Mo S » Spektrum / Graupner
Aux (T o p p .
o [ rcrae [rcom |
s ® psol[ oes DO NOTE! You must "Save and

AUX 4 00
Reboot" to save changes onto your

-I| flight controller.

Channel Map

Port utilization: D: 4% U: 1% | Packeterror:0 | I12C error: 0 [ Cycle Time: 3452, 1.0.0

Futaba IR
Default . Spektrum
Hitec
Graupner
<l 1 Roll Roll Throttle
2 Pitch Pitch Roll
3 Throttle Throttle Pitch
Recewver DJCUMENTATION FOR 1.8.1
4 Yaw Yaw Yaw
;1iff:ii‘?v"elfEil}z;iﬁij‘fm!ifZZ?;;’E?%E?:‘E?&f:‘;;?s",%hf;iéiﬁ':"n“?xr‘;!o'fé‘gé;iFl{iﬁ;:i;?iil‘f‘?“fé‘é&?"si‘i"mv;ﬁiéfﬂ‘iﬁéi?:ﬂﬁ?&éﬁ“" 5 Aux1 Aux1 Aux1
IMPORTANT: Be(oreﬂ;‘\ngregad(as;savecr\ap(eréidncumen(a:nonanocanﬂgure!adsa;e. : 6 Aux2 Aux2 Aux2
7 Aux3 Aux3 Aux3
- e 0502 00032 8 Aux4 Aux4 Aux4
R Spekinen Grauprer |
. = Radio Channel Revers
e Wl RedochameiReves
090 3 065 3 JR
Futaba
; Spektrum
Hitec
Graupner
g 1 Roll | Reverse | Throttle | Normal
[scrm I s | 2 Pitch | Normal Roll | Reverse
Port utilization: D: 4% U 1% | Packeterror:0 | 12C error:0 | Cycle Time: 3412 100 3 | Throttle | Reverse Pitch Normal
4 Yaw Normal Yaw |Reverse
5 Aux1 Aux1
Pitch Throttle Throttle Pitch 6 | Aux2 Aux2
7 | Aux3 Aux3
N A \ 8 | Aux4 Aux4
- » <o mmp B o mump
| | | | | Radio End Point / ATV Settin
e T XA ron vaw T \ W ron
Futaba
MODE 1 MODE 2 Hitow Spektrum
/ Graupner
The colored indication bars 1 Roll 110/110% | Throttle| 120/120%
Roll [T 1500} Rt -
. . 2 | Pitch | 110/110% | Roll | 120/120%
in CleanFlight represent Pitch [Pl VP Sikion) 150G Lo S CA iGN :
Yaw et oo R 3 |Throttle| 110/110% | Pitch | 120/120%
yourrealtime channel PWM | | @ e e o0 — 4| vaw [110110% | Yaw [1201120%
signal. Make sure to turn | a1 BT MBE0  Aliieds Gizage 5 | Aux1 | 110/110% | Aux1 | 120/120%
. Avx2 G0 RE 00 Eftaleel UP 6 | Aux2 | 110/110% | Aux2 | 120/120%
your Transmitter ON so you
) AUX3 00 7 | Aux3 | 110/110% | Aux3 | 120/120%
may check your trim and to | uxe z 8 | Auxa | 110110% | Aux4 | 120/120%

make sure your channels moves in the correct direction.

It is important to note that when you move your Transmitter sticks that your Transmitters Travel Adjustment (ATV)
must move to less than 1100 and more than 1900. If your Transmitters Travel Adjustment is not properly setup
than your Vengeance will not ARM. To ARM your Vengeance move your YAW/RUDDER stick to the Bottom and
RIGHT position for 1-2 seconds. DO NOT ARM Vengeance with propellers on for the first time!

Subos
e /{l‘-.



The Vengeance utilizes a 3Whenpoweris
brushless gimbal for pitch plugged in on the
dampening and view Vengeance if the g
adjustment. imbalvibrates
1.When turning ON the andoscillates

Vengeance please keep the uncontrollable then reset the

Vengeance level and do not power and power again. W<

move for about 5 seconds. The  4.After the gimbal is set and

gimbal sensors must detect the detects horizontal positioning
horizontal position. after 5 seconds you may
2.Make sure that the Gimbal's rotate the gimbal with your hand to find your

wires are not tangled and are desired camera view angle. P
Throtte T 00

able to move freely. Failure  5.Ch.6 on your PWM Receiver can be used to mz —

AUX3 00

to free the Gimbal head from control the Gimbal rotation UP or DOWN. AUKA ®

obstructions may lead to the

Gimbal motor to fail.

How To Change Gimbal Stabilization Modes:
There are two types of gimbal stabilization modes. First mode (by default) is

"Race Mode". The second mode is "Self-Level Mode". To change between
modes quickly press the "Mode Change Button" twice with a small tool.

DO NOTE: Mode switching cannot be remembered by the gimbal
after unplugging the battery. When you unplug the battery from the

Vengeance the gimbal will reset to "Race Mode" by default.
Mode Change Button

RACE MODE (Default): While in Race Mode the camera will
dampen any oscillations during flight while viewing in the
Vengeances general preset camera view angle. Oscillations
under 0.4seconds will be dampended out. Race Mode is
designed to dampen rapid changes in pitch thus stabilizing
your view.

(252 QPO TANT T 4TS

PPM Receiver and Gimbal Note: While using RACE MODE adjusting the camera angle via PPM is not supported. SELF-LEVEL MODE is not
supported via PPM wire. If you wish to have full-access to your camera gimbal you must use a standard PWM receiver.

g:fEERION "Elﬁ['lm 13



PID Tuning Configuration. PID
Tuning is used to adjust the flight

Disconnect

characteristics. Default PID settings

PID Tuning for the Vengeance is set for
[erotie [ o> conwoter (Cshowatpios beginners and intermediate pilofts.
Y- 0 - MultiWii (Old) v
& PID Tuning .
[rome [poporional [ imegal _Joervave  [lloume  fprcme  vawee | If you wish to fly faster you may
Basic/Acro 0.60 2 0.60 3 0.70 £
e :gi gg;g 2;2 [ vaseom reduce the ROLL and PITCH PID
YAW 855 0.045 3 03 0.00 3 1500 3 .
ot TG settings both by -0.2 for reduced
LEVEL 90 % 0.010 % 100 2
Eamv\e:avljSnvar/-\:lxiude d ) SenS|T|V|ty.
ALT 505 0.000 ¢ [ ¥=!
VEL 120 3 0.045 3 15 . . epe .
If you wish to increase the sensitivity
of the Vengeance's ROLL / PITCH/
YAW you may increase the PID
= &= .
Port utiization: D: 0% U: 0% | Packeterror-0 | 12Cerror:0 | Cycle Time: 3589 | 100 Settlngs to no more than 08'

otherwise it will be difficult to control.
DO NOTE! You must "Save and Reboot" to

save changes onto your flight controller.

Disconnect

DOCUMENTATION FOR 1.8.1

Modes

Use ranges to define the switches on your transmitter and corresponding mode assignments. A receiver channel that gives a reading between a
range min/max will activate the mode. Remember to save your settings using the Save button

ARM E E
Add Range 0 1 2

ANGLE AUX1 ¥

Min: 900

Add Range [ Max: 1300
HORIZON
Add Range

BARO AUX1 ¥

Min: 1300

Add Range [l Max: 1700

Part usilization: - 4% L 1% | Packererror-0 | 120 eror-0 [ cvele Time- 3507 110

X &}

DOCUMENTATION FOR 1.8.1

Modes

Use ranges to define the switches on your ransmitter and corresponding mode assignments. A receiver channel that gives a reading between a
range min/max will activate the mode. Remember to Save your Settings using the Save button

ARM

Add Range

l ANGLE

I Add Range

HORIZON

AUX1 v

Min: 1500 | 0 |
Max: 2100 1 4 5 0
Add Range

MAG

I Add Range

HEADFREE -

Port utilization: D: 5% U 1% | Packeterror- 0 | 12Cerror:0 | Cycle Time: 3508 | 100

The Vengeance includes three
preset fight modes. The fight mode
switch is used on Ch.5 of your
transmitter, a three-position toggle

switch isrecommended.

0: ANGLE: For beginners
use. Features automatic level
stabilization. *Due to the eight
degree forward motor-tilt the
Vengeance will naturally try to fly

slightly forward while hovering.

1: ANGLE + BARO: For beginners
use. Features automatic level
stabilization. Integrated BMP sensor
will automatically will try to hold the
flight altitude.

2: Manual: For advance
use. Disables automatic level

stabilization. Used for rolls and flips.

DO NOTE! You must "Save and
Reboot" to save changes onto your

flight controller.



"Adjustments" Configuration

Page: Here is where you can

Disconnect

set advanced features on the

Adjustments Vengeance via AUX channels on

DOCUMENTATION FOR 1.8.1

Configure adjustment svitches. See the ‘in-ight adjustments' section of the manual or detais. The changes that adjustment functons make are not your Transmitter.

saved automatically. There are 4 slots. Each switch used to concurrently make adjustments requires exclusive use of a slot.

Examples

Use Slot 1 and a 3POS switch on AUX1 to select between Pitch/Roll P, | and D and another 3POS switch on AUX2 to increase or decrease the value t 1 1 .t t t d t d || th
vinen held up or down It is important to understand a e

Use Slot 2 and a 3POS switch on AUX4 to select enable Rate Profile Selection via the same 3POS switch on the same channel.

functions that you enable. Check

§it Adjustments Ifenabled  when channel isinrange

then apply usingsiot  via channel

e e e s swie axie | your AUX channel's by looking at

Max: 1700 - 1400501 0 2002100 " " . .
the "Channel Map" configuration

AUX1 v

Min: 900 1 | 10 | ' | [Nochanges v|[Slot1 v| [AUX1 ¥

Max: 900 - 12 14005006 . 2002 p(]ge.

AUX1 v

2) Min: 900 T | 10l |+ | [Nochanges v][Slot1v| [AUXT ¥
Max: 900 o ; 400

Motor Configuration Page: This
page is used to adjust your motor

settings if you wish to do so, though

Motors || the Vengeance becomes already

@ @ 2 e pre-configured. Before testing this
! efresh: [20ms ¥

T T feature make sure to remove ALL
LA ; ing. Fai

2 X propellers before trying. Failure to

50 0 50 100 150 200z .
. do so may result in bodily harm.
1 2 3 5 6 7 8 1 2 3 4 5 6 7 8

DEREEEREE iﬁﬁﬁ

Motor Test Mode Notice:
Moving the sliders will cause the motors to spin u
In order to prevent injury remove ALL propellers before using this
ea) [Ea) (@) o) (Ea) (&) (B feature

1000 1000 1000 1000 1000 1000 1000 1000 Master

| understand the risks, propellors are removed - Enable
motor control

Port utiization: D: 19% U: 5% | Packeterror:0 | 12Cerror:0 | Cycle Time:3522 | 100

How to configure your ESC adjustments:

The Vengeance uses four different motors and ESC's. Sometime there might be a inconsistent distrubtion of

power among your Vengeance which could lead to poor flight performanc and handling. To reset your ESC
and tune them properly please follow the below steps:
1. Remove ALL propellers before configuration! Failure to

do so may lead to bodily harm.

1000 1000 1000 1000 0 O O |0

2. Connect the Flight Controller to CleanFlight without the
main flight battery connected.

use the motors to spin up.
jury remove ALL propellers before using this

(e1) {en) (&3 (23] (23] (3] (23]

3. Turn the motor "Test Switch On" B e e C — )

4. Move the "Master" switch to the maximum level

5. Connect the main flight battery to the Vengeance. 55 0 5o 2o i a8 &8s & 9 o

Wait five seconds after the ESC makes a gradual rise in - B B B B o o o o

noise e iﬁiii-ii
4%

il cause the motors o spin up
injury remove ALL propellers before using this

6. Move the "Master" switch to the minium level, you will

(3] (23] (23] (23]
1850 1850 1850 1850 1000 1000 1000 1000| | understand the risks, propellors are removed - Enable

hear a gradual decline in ESC sound.

7. Turn OFF the Master Switch and unplug the flight battery.



10.How to bind Spektrum satellite receiver?

Disconnect

DOCUMENTATION FOR 1.8.1

Note: nat all combinations are vaid. When the flight controller firmware detects this the serial port canfiguration will be reset
Note: Do NOT disable MSP on the first serial port unless you know what you are doing. You may have to reflash and erase your configuration if you do.

T R R TR R

UARTI @) VsP [ 115200 ¥ Blackbox [ 116200 v | [Disabled ¥ [AUTO v serial RX () 57600 ¥
UART2 8 MsP [115200 v | Blackbox [116200 v | |Disabled ¥|AUTO v 5 57600 ¥
SOFTSERIALT  (_ msp | 115200 v B Blackbox | 115200 v Disabled v |AUTO v Serial RX 57600 v
SOFTSERIALZ  (_ MsP 115200 ¥ | (_ Blackbox (115200 v | [Disabled v [AUTO v| (C Serial RX 57600 ¥

€ Configuration

Receiver Mode

Battery Voltage

@) VBAT Bam:

RX_PPM

®

RX_SERIAL

RX_PARALLEL_PWM P

RX_MSP MSP RX input

Serial Receiver Provider

Note: Rememer to configure a Serial Current Sensor

a Serial Receiver Provider when using

SPEKTRUM1024 2 X
SPEKTRUM2048 0

SUMD bt

CURRENT_METER

Receiver failsafe

Disconnect

Receiver

Please read receiver chapter of the documentation. Configure serial port (f required), receiver mode (serial/ppm/pwm), provid serial receivers), bind
receiver, set channel map, configure channel endpoints/range on TX 50 that all channels go from ~1000 to ~2000. Set midpoint (default 1500, trim

channels to 1500, configure stick deadband, verify behaviour when TX is Off or out of range.

IMPORTANT. Before flying read failsafe chapter of documentation and configure failsafe

TAER1234 v
Default
Futaba / Hitec

JR Spektrum / Graupner

Ve T 0
Throwte [ 00
o

e

050 3 0.00 3

Disabled v

Disconnect

Note: Leaving CLI tab or pressing Disconnect will automatically send "exit” to the board. With the latest firmware this will make the controller restart and
unsaved changes will be [ost

1. Go to the "Ports" page. Under the
UART2 page area activate the
"Serial RX" tab. (Press Save and
Reboot)

2. Go to the "Configuration™”
page. Select the “RX_Serial”
option and whether you are
using Spektrum 1024 or 2048
compatible receivers. (Press Save
and Reboot)

3. Go to the "Receiver" page.
Select the Channel Map for JR/
Spektrum/Graupner radios. (Press
Save and Reboot)

4. Enter into the command line the
following code:

"Set spektrum_sat_ = X"

"Enter"

X Value = Receiver mode
3 = DSM2 1024bit / 22ms
5=DSM2 2048bit / 11ms
7 = DSMX 1024bit / 22ms
9 = DSMX 2048bit / 11ms

5. Insert "Save" and press Enter. A
Message pop-up will appear
"Save & Rebooting."

6. Unplug the USB, then immediately
reconnect USB.

7. The satellite receiver LED will start
to flash.

8. Hold the “Bind” switch on your
transmitter and turn ON.

9. The Satellite receiver LED will dim
and then reappear. You are now
binded.



u -
1. Configuring your VTX.
The Vengeance utilizes a 5.8GHz Selectable

25mW / 250mW Video Transmitter with 40Ch's Modulate Wideband FM Modulate
with Raceband. Video Format NTSC / PAL
. Value Units
Changing Channels and Bands: Characteristics i T Typ. T Mox.
Push button for more than 2 Seconds: Change 1 Output Impedance 50 | — | Ohm
Band. 2> loutout P FX795T-L/ 25mW 12 13 14 dBm
bush button for less than 1 Second: Ch O e EX795T-2/200mW | 22 | 23 | 24 | oBm
us utton for fess than econd: ange 3 Frequency Range 5645-5945 Mhz
Frequency Channel. 4 Operating Voltage 7.0 12 20 V
! ili FX795T-L/ 25mW - 70 - mA
The Vengeance's VTX utilizes a 25mW and 5 [supply current ns 2//200 — — -
250mW selectable VTX. In most European and _ m _ _ m
) ) ) 6 Output Voltage (VOUT) VOUT=5V \Y
Western Countries 25mW is the maximum Rf 7 Operating Temperature Joc | — -850
output for 5.8Ghz. Please check with your law 8 Video Band Width 0 8.0 Mhz
and regulations to make sure that you confirm |2 Audio Carrier frequency — | 65| — | Mhz
ith the | 10 Video Input Level 0.8 1.0 1.2 Vp-p
with the faw. 11| Video mput Impedance — | 75 | — | ohm
Adjusting the Rf power output for increased  [12 Audio Input Level 05 — [ 20 [ vpp
range. You may cut the "RF limit wire" so that |13 Audio Input Impedance 10K Ohm
you may transmit at 200mW power. If you wish 14 Weight 75 | — [Grom(s)
) 15 Antenna Connector SMA Female Connector
to later transmit at 25mW you may solder the 1% Dimensions (L x W) 31x2omm

"RF limit wire" again.

Antenna Connection
Microphone Jack:

Change RF Output? y S NOTE: Do not power

ON your Vengeance
without the VTX
Antenna installed.

Channel button
Long press : Change Group

Short press : Change Channel Group LED

Channel LED

t+ When the "mode change wire'
is not cut the VTX will transmit in
25mw. (Default)

25mW/250mW Change

1 To output in 250mw power you
must cut the "rf limit wire". DC7~24Vin GND Videoin GND DC5V out

Vengeance 5.8Ghz Channel

ggﬁgél Channel 1 Channel2 | Channel3 | Channel4 | Channel5 | Channelé | Channel7 | Channel 8
Group1 (A) 5740 5760 5780 5800 5820 5840 5860 5880
Group2 (B) 5705 5685 5665 5645 5885 5905 5925 5945
Group3 (C) 5865 5845 5825 5805 5785 5765 5745 5725
Group4 (D) 5658 5695 5732 5769 5806 5843 5880 5917
Group5 (E) 5733 5752 5771 5790 5809 5828 5847 5866

g:fEERION "Elﬁ['lm 17



